Long Division
(without remainder)

Name

Score

DS:III:27

D 71)25,915 2) 59) 80,417
—_ Q —_
R = R =

3) 45) 44,280 4 82)60,106
—_ Q —_
R = R =

>)  98) 98,000 6)  26) 50,960
—_ Q —_—
R = R =

7) 14) 74,872 8) 30) 48870
—_ Q —_
R = R =
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Long Division
(without remainder)

Name

Score

Answer key DS:111:27
D 71) 25915 2)  59) 80,417
Q= 365 Q= 1,363
R= 0 R= 0
3) 45) 44,280 4 82)60,106
= 984 Q= 733
R= 0 R= 0
>)  98) 98,000 6)  26) 50,960
Q= 1,000 Q= 1,960
R= 0 R= 0
7) 14) 74,872 8) 30) 48870
Q= 5,348 Q= 1,629
R= 0 R= 0
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